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Sample Paper
Class XII
Subject- Accountancy

Time Allowed : 3 hrs

                                                               Maximum Marks : 80





	General Instruction :-

(a)This question paper contain two parts.

(b)Marks of each question is indicated against the question.

(c)All parts of a question should be attempted at one place.




1.How Receipts and payments account is distinguish from Cash Book ?
1


                                               
2.Why are partner’s current account opened, when there are Capital Account of the partner ?    1
3.Is Registration of a parternership firm is compulsory. Give reasons ?      1



4.Write two situations when Gaining ratio may be Applied ?
  1



                                  
5.What will happen  when minim um subscription for security does not received by company ? 1
6.Following is the extract of a receipt and payment account for the year march31 2007 
  

Payment for stationery rs. 23,000

Additional information  :-

                                                               April 2006


         Mar31 2007

Stock of stationery



15,000



10,000

Creditors of stationery


18,000



  3,000

Advance paid to creditors


   2,000



  4,000

Calculate the amount of stationery consumed during the year.                                             3


7.What all the condition can a company issue shares under the provision of section 79 of company’s act 1956 ?
                  3










8.Alpha ltd took over assets of Rs. 6,10,000 and creditors of Rs. 30,000 from xyz ltd for a purchase consideration of Rs 5,50,000.The Alpha company paid the amount by issuing 8%.Debentures of Rs 100 each at 10%,Premium pass Necessary journal entries in the books of purchasing company ?
3




                 
9.P,Q and R are partners in a firm. Their capital account  stood at Rs 30,000,Rs 15,000 and Rs 15,000 respectively on 1st January 1996

As per the provision of the deed

(i)R was to be allowed a remuneration of Rs 3000 p.a.

(ii)Interest at 5% p.a. was to be provided on capital.

(iii)profits were to be divided in the ratio of 2:2:1.Ignoring the above terms, net profit of the Rs.18000 for the year ended 1996 was divided among the three partners equally .Pass an adjustment entry to rectify the error. Show the working clearly.
                              4


10.X,Y,Z were sharing profits and losses in the ratio of 5:3:2. They decided to share future profits and losses in the ratio of 2:3:5 with effect from 1.4.2007.They decided to record the effect of the following without effecting their book values:-

(i)Profit & loss account



Rs 24,000

(ii)Advertisement suspense account a/c
Rs 12,000

Pass the necessary Adjusting entry.
          4        







11.What journal entries should be made for the issue of debentures in the following cases.4
(i)X limited issued  30,000  12% debentures of Rs.100 each at par, redeemable at a premium of 5%






(iiY limited issued 50,000,12% debentures of Rs 100 each at a premium of 5%,redeemable at par.

12. Following the Receipts and payments account of Adult literacy organization for the year ended 31.3.2006

	               RECEIPTS
	AMOUNT
	                PAYMENTS
	AMOUNT

	To Balance b/d

To Subscription

2004-05                   1200

2005-06                  26500

2006-07                     500

To sale of old newspapers

To government Grants

To sale of the Furniture (Book value Rs 7000)
	19,550

1,250

10,000

5,700
	BY Salary

By Newspapers

By Electricity bill

By Fixed Deposit (on 1.7.2005)9% p.a.

By Books

By Rent

By Furniture

By Balance c/d
	3,000

2,050

1,000

20,000

10,600

6,800

10,500

11,200

	To Interest on F.D.
	450
	
	

	
	65,150
	
	65,150


Additional Information-

(i)Subscription outstanding as on 31.3.2005 were Rs 2000 and on 31.3.2006 Rs 2500/-
(ii)jOn 31.3.2006 salary outstanding was Rs 600 and Rent outstanding was Rs.1200

(ii)The club owned Furniture Rs 15,000 and Books Rs 7000 on 1.4.2005

Prepare Income and Expenditure Account of the club for the year ended 31.3.2006 and ascertain Capital fund  on 31.03.2006
6                      







13.The following is the Balance sheet of A and B as on 31st march 1995          
	Liabilities
	Amount
	Assets
	Amount

	Creditors

Mrs. A’s loan

Mr. B’s loan

Reserve

Capitals

A

B
	38,000

10,000

15,000

5000

10,000

8,000
	Bank

Stock

Debtors

Furniture’s
Plant

Investment

Profit & loss A/c
	11,500

6,000

19,000

4,000

28,000

10,000

7,500

	
	86,000
	
	86,000


The firm was dissolved on the following terms ;-

(i)A agreed to take the investments at Rs. 8,000 and to pay off Mrs. A’s loan

(ii) Other assets released as follows

Stock Rs 5,000, Debtors Rs 18,500, Furniture Rs 4500

Plant Rs 25,000

Expenses on liquidation amounted to Rs 1600 creditors agreed to accept Rs 37000.The profit and loses were shared in the ratio 3:2.                    
You are required to prepare necessary ledger accounts at the time of dissolution of firms.6
14.Pass necessary entries for redemption of debentures in the following cases showing the working clearly. 







(3+3)
(i)Hina ltd redeemed 4,000,14% debentures  of Rs 100 each which were issued at par  redeemable at 10%.Premiumby converting them into equity shares of Rs 10 each issued at a discount of Rs 2%.

(ii)Ankit ltd redeemed 6000,14% debentures of Rs 100 each which were issued at discount of 5% by converting them into equity shares of Rs 10 each issued at Par.

15. Alfa limited invited applications for  4,00,000 of its equity shares of Rs 10 each on the following items ;-

Payable on Application

Rs.5 per share

Payable on Allotment

Rs.3 per share

Payable on first & final call
Rs 2.per share

Application for 5,00,000 shares were received. It was decided :-

(a)To refuse  allotment to the applicant for  20,000 shares

(b0To allot in full to applicant for 80,000 shares .

(c)To utilize excess application money in part as payment of allotment money.

(d)To allot the balance of the available share s prorate to the other applicants.

One applicant whom share had been allotted on prorate basis did not pay the amount due on allotment and on the call and his 400 shares were forfeited the shares were issued  @ Rs.9 per share .

Prepare Cash Book and Pass necessary journal entries.                8





OR

J.P petro chemicals  ltd. with an authorized capital of Rs.10,00,000 in equity share of Rs 10 each  at a price of Rs 14 each. The arrangement for payment being ;-

(a)Rs .2 per share payable on application.

(b)On allotment Rs. 5 per share (including premium).

(c)The final call for the balance to be made.

Application were received for  3,55,000 shares and were dealt as follows ;-

(1)Applicants for 5,000 shares received allotment  in full (ii)Applicants for 30,000 shares received on allotment of  one share for every two applied,(iii)Applicants for 3,20,000 shares received on allotment of  one share for every four applied  four the money due on allotment was retained by the company, the excess being returned to the Applicants.                    

Mohit,  a  shareholders who applied for 900 shares pay only the Allotment money. His shares were forfeited & Reissued @ for Rs 9 each Rs 10 fully paid up .The final call was made there after. You are required to record these transactions (including bank items i)in the journal of J.P.Chemical ltd..

16.The Balance sheet of P,Q and R who were sharing profits in the ratio of 2:1:2 as at march 31 2008

	Creditors

Bills payable

Workmen Compensation fund

General Reserve

Capitals  A/s

X                              57,000

Y                              30,000

Z                               57,000
	19,500

20,000

27,500

10,000

1,44,000


	Cash at Bank

Debtors                    4,200

Less; provision            500

Bills Receivable

Stock

Goodwill

Profit  & loss A/c


	80,000

41,500

1,500

78,000

12,000

8000



	
	2,21,000
	
	2,21,000


Q decided to Retired on August,2008 P and R decided to share profits in the future in the Ratio of 2:1 respectively. The other  terms on  retirement were as follows :-
(i)Goodwill of the firm valued at 2 years purchase of 3 years Average profit 2007=Rs 40,000. In  2006 Rs 28,000
(ii)Reserve for Bad-debts is to be made to 5% on Debtors Stock is Appreciated by 2000.

Goodwill will not be Raised in books.

(iii)The liability on Account of W compensation fund is Rs 27,000.A Creditors of Rs 500 Not likely to arise.

(iv) Q’s share of the profits is Based on Average of the last two year profit.

The Amount of Rs 20,000 is to paid to Q’s capital A/c Immediately remaining is to transferred to his loan A/c. Prepare Revaluation and Balance Sheet after Q’s Account.  8






OR
The following is the Balance Sheet of Deepashree, Rajshree who sharing Profits and losses in the Ratio of the 3:2

	Liabilities
	Amount
	Assets
	Amount

	Creditors

Employee’s provident fund

Bills Payable

Capital’s

Deepashree                  47,955

Rajshree                        31,970

Profit’s loss A/c
	29,000

42,000

6,000

79,925

18,000
	Cash in Hand

Plant and Machinery

Bills Receivable

Stock

Land and Building

Debtors                          18,000                                                          
Less: provision                     175                         
	8000

38,100

8,000

27,500

8,000

17,825

	
	1,79,425
	
	1,79,425


They Agree to Admit Tanushree for 1/6 share in the profit acquire equally from both the partners on the following terms  :- 

(i)There is an Appreciation in the value of land and building up to 82,000.

(ii)Provision for Doubtful debts is to Made to 1% on Debtors.

(iii)Stock is to be increased to 125 %.

(iv)Creditors include Rs.900 for Installation of Plant & Machinery.

(v)There was an contingent liability of 150 for outstanding Prepare.

(vi)Goodwill is valued at Rs 120,000 she will bring Rs 8000 in case for her goodwill.

(vii)Tanushree will bring in Capital proportionate to his share of profits in the firm.

You are required to Pass the Necessary Journal entries and Balance Sheet.







Part-B

17 The Debt Equity Ratio is 1:2 State giving reasons, whether the ratio will improve, decline will have no change, in case equity shares are issued for cash.
      1



18. Interest Received by a Manufacturing Company is classified under which type of activity while preparing Cash flow statement.
      1

19. Name any two tools of financial Analysis?
   1

 20.     Under what Heading (subheading) following items will be shown in the balance-sheet as per part 1 of schedule vi of company act ?

Bills receivable, stock in Trade, livestock, loose tools, unclaimed dividend, proposed                     dividend                                                    





          
21. Prepare a comparative Income statement with the help of the following information :-        4
	                        Particulars
	            2006
	            2007

	Sales

Cost of goods sold

Indirect Expenses

Income Tax
	15,00,000

11,00,000

20% of Gross profit

50%
	18,00,000

14,00,000

25%of Gross profit

50%




22.From the following information given. Calculate   any two of the following Ratio.

(i)Current  Ratio
(ii)Return on Investment

(iii)Debt Equity Ratio

Information :-

Net profit Rs.80,000 Fixed Assets Rs 2,00,000,Closing stock Rs 10,000,Current liabilities Rs.30,000.Equity share Capital Rs 1,00,000.10%Prefrence share capital Rs 70,000 12%Debentures Rs 60,000 sales Rs 5,00,000.          4

23From the following Balance sheet Prepare Cash flow statement :-

	Liabilities
	2008
	2007
	Assets
	2008
	2007

	Equity  share capital

12% prefernce share capital

General Reserve

Security Premium

Provision for depreciation

Provision for tax

Creditors

Outstanding Bill

Bills payable

Bank overdraft
	2,50,000

3,30,000

34,000

22,000

2,9000

71,000

18,000

2100

3000

----
	3,21,000

1,85,000

40,000

15,000

2,18,000

53500

20300

4000

5800

32000


	Plant and Machinery
Goodwill

Land and building

Stock

Bills Receivable

Prepaid Expense

Underwriting Commission

Short term Investment

Cash in bank


	280000

35000

165000

76400

32700

2500

67500

80000

20000


	250000

28600

205000

85000

30000

3000

80000

8000

5000



	
	759100
	694600
	
	759100
	694600


Aditional Information :-

Tax paid Rs 25000.A machine costing Rs 850000 (Acconulated Depreciation there in Rs 8900)sold for 25% loss.Dividend paid Rs 18500 during the year.    6
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